;».al

4.Device Installation

4.3 Z-axis Cable Drag Chain Installation
A. Insert the mainboard adapter cable into the appropriate interface and assemble the Z-axis cable drag chain at this end.
B. Complete the assembly of the other end of the Z-axis cable drag chain.

e Z-axis Cable Drag Chain

Figure A

Figure B

06

>>


https://manuals.plus/m/4a983be03ea0b4c000f0f9a8630bd12a629eb8baacf48590877e885b074af231

4.Device Installation

4.4 Pull Rod Installation
A. Fix one end of the pull rod to the top of the gantry frame with one M5*10 screw (just pre—tighten the screw).

B. Fix the other end of the pull rod to the base with one M5*25 screw and one M5 flat gasket as shown, finally tighten the fixing screws on
both ends of the pull rod; then complete the assembly of the pull rod on the other side using the same method.

Q Pull Rod x 2

N

\w/‘]}

\_/

@ M5 Flat Gasket x 2

&

Hexagon Socket Button
Head Screw M5*10 x 2

\‘/ A

Hexagon Socket Button
Head Screw M5*25 x 2

07



4.Device Installation

4.5 Display screen Installation

A.Assemble the display screen frame with three M4*20 screws.
B.Insert the display screen cable into the appropriate interface and snap the cable into the buckle.

C.Align the pins on the back of the display screen with the punched holes in the display screen frame and insert it, then slide it downwards to fasten it.

Figure A

o Display screen

\"f g\
[ ’%<

I

e
~r

&:\J

Hexagon Socket Button
Head Screw M4*20 x 3

= = n

@R@ALUW ®De ece

I
|
|
|
|
|
|
I
|
|
|
|
|
|
I
|
|
|
|
|
|
I
|
e Display Screen Frame : S
|
|
|
I
|
|
|
|
|
|
I
|
|
|
|
|
|
I
|
|
|

08



>>

4.Device Installation

4.6 Material Rack Installation
A.Fit the front slot of the material rack to the front slot of the top profile and press down on the end of the material rack to fix it.
B.Screw the threaded ends of the two material barrels into the two ends of the material rack.

Figure A ) Figure B

Material Rack and

Filament Sensor

e Material Barrel x 2

| 09

— he



>>
5.Equipment Connecting
Y-Axis W Z-Axis %] *

‘ Motor Port -8 Motor Port | .
6pin (4 wires) 6pin (4 wires

Filament Detection %E Filament detection
Module connector

-

3pin (3 wires)

A. Follow the yellow label on the 6pin (4 wires) port to connect the Y—-axis stepper motor;
B. Follow the yellow label on the 6pin (4 wires) port to connect the Z—axis stepper motor;

C. Connect the filament detection module by following the yellow label on the 3pin (3 wires) port;

D. Connect the filament detection connector;

Filament
Detection

10



